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i- θ> 0
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proposition = { 0,   prop.  is  false.

1,   prop.  is  true.
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the incorrect patterns : the machines should answer 0 for these.

the correct pattern : the machines should answer 1 for this.
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80%

78%

100%

78%

1~5th generation 6~10th generation

the total number of feature detecting 
cells  included in the 25 individuals

10

20

the ratio of
correct answer

an individual 
in the generations

another individual

(39 in 50 pattterns are
 answered correctly.)

100% 100%

12%12%

11~20th generation 21~30th generation

(5 individuals are in a generation.)

- .04  .46

weights after 
learning

(10 correct patterns and
 40 incorrect ones are all
 answered correctly.)

- .09

threshold
after learning
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the correct patterns 
  : the machines should answer 1 for these.

the incorrect patterns 
  : the machines should answer 0 for these.
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1~10th generation

70%

50

100

total number 
out of 100 individuals

11~20th generation

90%

21~30th generation

100%

31~40th generation

100%

75%

(10 individuals are in a generation.)

weights after
learning

50

100

-.42 .10 .50 .30 -1.06 -.02 .22
-.03

threshold
after  learning
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